Math 101 — WORKSHEET 28
ABSOLUTE CONVERGENCE

1. MORE TAIL ESTIMATES

(1) It is known that 1 — 3 + 2 — 1+ £ — £ + -+ = log2. How many terms are needed for the error to
be less than 0.017

(2) It is known that 1 — 4+ -1 44— L 4... = Z How many terms are needed for the error to be
less than 0.0017

2. CONVERGENCE
(3) Which of the following converges:
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3. RATIO TEST

(5) Decide whether the following series converge:

(2) 3nZo 2w

(b) 30lo 3

(c) ZZO:O %

(d) For which values of = does Y 2 jna™ converge?



